
zia ilibxz oexzt

4zia libxz

1 dl`y

lcs (1, ...n, perm) z` miaygn

3 dl`y

:mipzyn ipy cewcew lkl xenyp

.u z` lleke ,ely yxeyd uy ur zz ly ilniqwnd lwynd - fw (u) •

.u z` llek `le ,ely yxeyd uy ur zz ly ilniqwnd lwynd - fwo (u) •

fw (u) = fwo (u.left) + fwo (u.right) + w (u)

fwo (u) = max {fw (u.left) , fwo (u.left)}+max {fw (u.right) , fwo (u.right)}

5 zia libxz

1 dl`y

dnxdn milrdn cg` xiarp .2 zegtl milra yxtd el yiy ilnihte` ur yiy migipn
.ddeab xzei dnxa dlrl dwenr ikd

3 dl`y

migeehd lr lkzqp .xyt`y lecb ikd rahnd z` mrt lk xegal `ed ipcngd oexztd
.dpekp dxigady gikepe (zerahn bef lk oia)miixyt`d

.zicbp dnbec `iadl ozip 'a sirqa
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4 dl`y

.dil` ribdl mileki epgp`y dwegx ikd dpgzd z` mrt lk xgap
.diptl didy dn lk z` cixepe ,oexzta epxgay dpgz lr lkzqp

5 dl`y

.dpnn ligzpe ,dzqek `ly d`ad dcewpd z` mrt lk xgap

8zia libxz

3 dl`y

m` .dwixq epnn mivixne ,ilniqwn meiq onf el yiy zexiywd aikx z` midfn
.z`fk dveaw ep`vn - micewcewd lkl eprbd

4 dl`y

,ibeleteh oein rvap okl .ddf `ed bestd ly jxrd aikx lk jeza ,milbrn `ll sxba
mibestd z` dxeg` aygpe ,ely ratingd didi ely bestd ,oexg`d cewcewd z` `vnp

.micewcewd x`y ly
.ibeletehd oeind z` GSCC lr rvape ,miwfg zexiyw iaikxl wlgp

5 dl`y

yi f` (1, 0) zywe (0, 1) zyw yi zexiyw aikx eze`a m` .zexiyw iaikxl wlgp
.dfk lbrn epl

9zia libxz

3 dl`y

reaw `ed iepiyd okle ,zezyw xtqn eze` yi miqxetd mivrd lka :ok `id daeyzd
C · (|V | − 1) -

5 dl`y

,(u, v) ly dfl deey e` lecb xzei mdly lwyndy zezywd lk z` sxbdn micixen
,MSTa z`vnp `l (u, v) f` - yi m` .eplaiwy sxba vl un lelqn yi m` wecape

.lbrna zilniqwn (u, v) f` ik
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6 dl`y

w ((u, v)) = w (u) + xicbp .zezywl micewcewdn milwynd z` xiardl mivex
f` (5 `id Ta ely dbxcd xnelk)minrt 5 cewcew epgwl m`y `ed oeirxd .w (v)

.eil` zexaegny zezyw 5 epgwl

11zia libxz

1 dl`y

δ (w, u) = ∞ cewcew zeidl leki ,xiyw `l sxbd m`
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